FEMFETER (HETAX) OHB

BEH3—2

H30 RI R2 R3 R4 i%fogﬁiﬁ
AEHR K 37 35 34 47 26 36
B (S 12,987: 12,0021 11,665. 11,660 10, 561 11,775
FERET X 2.8 2.9 2.9 4.0 2.5 3.0
= |EESE % 33 34 32 34 33 3.3
[A B EhRe#ftET]

WERFETR (HETAX) DO#R
H30 RI R2 R3 R4 i%fogﬁiﬁ
i IR T3 9 13 7 8 7 9
LRSS 12,956: 11,977: 11,638 11,618 10, 540 11,746
FERFETE 0.7 1.1 0.6 0.7 0.7 0.7
= [Hr 4 R % 0.9: 09 08 08 08 0.8
[A B EhRe#ftET]

FREER (HEFAR) OB
H30 RI R2 R3 R4 i%fogﬁiﬁ
IR 32 24 24 19 26 25
LRSS 12,956: 11,977 11,638 11,618 10, 540 11,746
FLIRFETE 2.5 2.0 2.1 1.6 2.5 2.1
A 1.9 1.9 18 1.7 18 1.8
[A B EhRe#ftET]

INRITE (I5EARBAOI0FAR) OHHB

H30 RI R2 R3 R4 i%fogﬁiﬁ
INRFET 3 56 48 40 43 45 46
B NRAD 214,437 211,981 205, 381} 202, 920} 199, 456 206, 835
INBIETTEHR 20.1: 22.6: 19.5: 21.2¢ 22.6 22.4
INRFETE 2090 205, 18.4 182 178 19.2

[AOEREMET, #ETAQD, EFHE]




